
ESTRUCTURA : EJE TRASERO
 

EJE TRASERO

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description Ref. Título Código
1 EJE

TRASERO

2 DISCO DE
FRENO

TRASERO

3 BULON
M12X210

4

5 TUERCA A

                        1 / 3

https://cprrepuestos.com.ar/images/stories/virtuemart/product/eje trasero5.jpg


ESTRUCTURA : EJE TRASERO
 

Ref. Título Código
6 POLEA TE

NSADORA

7

8

9 SOPORTE
DE POLEA

10 RESORTE
DE POLEA

11 TUERCA
M27

12 ARALDELA
TOPE

13 BULON
M12X210

14

15 BULON
M8X20

16 BUJE SEP
ARADOR
32X35X92

17

18

19 RETEN
35X55X8

20

21 PIÑON
TRASERO

37
DIENTES

                        2 / 3



ESTRUCTURA : EJE TRASERO
 

Ref. Título Código
22 CADENA

84

23 BULON
M10X25

24 TUERCA A

25 BULON DE
AJUSTE

DE
CADENA

26 TUERCA
PLANA M8

27 TUERCA
M8

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

